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A Figure 6 Velocity—time graph for the bicycle.
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A Figure 6 Velocity—time graph for the bicycle.
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drupged projected to the right

A Figure 13 Multi-flash images of
two falling objects.

dropped projected to the right

A Figure 14 Horizontal and vertical speed
components.
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A Figure 8 Making a triangle for forces.
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A Figure 12 Speed—time for a parachute jump.
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Energy Nature of energy associated with... Notes
kinetic the motion of a mass 2w
(gravitational) potential | the position of a massina itati field the word “gravitational” is not used wal«
electric/magnetic charge flowing
chemical atoms and their molecular
nuclear the nucleus of an atom related to amass change by AE = Amc?
elastic (potential) an object being deformed The word “potential” is not always used
thermal (heat) achange in temperature or a change of Achange of state is a change of a substance
state between phases, i.e. solid to liquid, or liquid to

gas. This is referred to as “energy transferred
as a result of temperature difference” in line
with the IB Guide. The colloquial term “heat” is
usually acceptable when referring to situations
involving conservation of energy situations.

mass conversion to binding (nuclear) energy ek
when nuclear changes occur e’ =™ 2
vibration (sound) mechanical waves in solids, liquids, or the amount of sound energy transferred is
gases almost always negligible when compared with
other energy forms
light photons of light sometimes called “radiant energy” another

form of electric/magnetic ¢ . kL

bo“-rulukm.umw Wuh«;’»wﬁkwﬁ W‘ﬁdﬂ«u {M«Jm
’Wu/mml.;\,-{-uw‘mn w0l e ousTd n-.‘.,bT.?,(.

= Uk dowe (T): foce. (1) * dfaune. ()
= Whew m:udb’ Libe, Qo el Lot umbe e v poid y uleich, in .m.uft-nmnrufn- bacoman: vl dive. > Funb .

). TTRLY) L/.t,.f,)

= Yt 2 510 e (Shn
W (350" )(15000)
*525 0 T
= A §. S, FeSSW ot 51°
w: s en(SO)LES)

PRk e

S S S TN
a

At b

= o ool fucs T gl of frie ill lo o ST G panllil, & se-axins (g )
“e s of Ta Arashs tpredi G wonde dove.



- total area = (number of squares)
X (energy represented by one square)

onesquare =F Xs

force

area=F Xs

force
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distance moved distance moved
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A Figure 4 Force—distance graphs.
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A Figure 4 Two moving objects with different mass in an elastic collision.
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